
Toutes les Opérations (E)Calculez chaque somme, différence, produit, ou quotient.1 · 9 = 48 : 12 = 5 · 2 = 5 + 12 =22 - 8 = 22 - 7 = 195 : 13 = 1 : 1 =5 · 2 = 13 + 8 = 91 : 13 = 2 + 2 =7 + 13 = 19 - 9 = 8 + 7 = 7 + 7 =15 : 5 = 13 · 9 = 2 · 10 = 45 : 9 =77 : 11 = 12 + 2 = 42 : 7 = 4 · 5 =1 · 8 = 8 · 7 = 4 : 2 = 23 - 14 =4 + 8 = 13 + 1 = 77 : 11 = 6 - 3 =6 + 12 = 6 · 14 = 8 · 12 = 10 + 6 =7 · 5 = 16 - 4 = 135 : 15 = 11 - 3 =10 · 6 = 1 · 13 = 10 + 6 = 33 : 11 =1 · 5 = 3 · 12 = 2 · 11 = 21 : 3 =8 · 12 = 48 : 8 = 1 · 5 = 8 + 1 =6 : 6 = 80 : 8 = 27 : 9 = 11 · 2 =13 · 13 = 4 · 9 = 18 - 13 = 4 · 11 =11 + 15 = 2 + 3 = 143 : 11 = 19 - 13 =143 : 13 = 40 : 5 = 7 + 7 = 11 - 4 =6 · 13 = 24 - 14 = 6 : 2 = 14 : 1 =4 + 14 = 13 + 2 = 2 + 5 = 120 : 12 =10 · 5 = 108 : 12 = 17 - 2 = 5 + 15 =121 : 11 = 10 - 9 = 168 : 14 = 4 + 8 =28 - 13 = 7 + 15 = 11 · 3 = 16 - 6 =15 + 6 = 30 : 5 = 14 · 13 = 20 - 5 =12 · 7 = 13 + 2 = 13 + 9 = 11 : 1 =1 · 15 = 25 - 14 = 24 - 13 = 11 + 15 =Mathslibres.com



Toutes les Opérations (E) RéponsesCalculez chaque somme, différence, produit, ou quotient.1 · 9 = 9 48 : 12 = 4 5 · 2 = 10 5 + 12 = 1722 - 8 = 14 22 - 7 = 15 195 : 13 = 15 1 : 1 = 15 · 2 = 10 13 + 8 = 21 91 : 13 = 7 2 + 2 = 47 + 13 = 20 19 - 9 = 10 8 + 7 = 15 7 + 7 = 1415 : 5 = 3 13 · 9 = 117 2 · 10 = 20 45 : 9 = 577 : 11 = 7 12 + 2 = 14 42 : 7 = 6 4 · 5 = 201 · 8 = 8 8 · 7 = 56 4 : 2 = 2 23 - 14 = 94 + 8 = 12 13 + 1 = 14 77 : 11 = 7 6 - 3 = 36 + 12 = 18 6 · 14 = 84 8 · 12 = 96 10 + 6 = 167 · 5 = 35 16 - 4 = 12 135 : 15 = 9 11 - 3 = 810 · 6 = 60 1 · 13 = 13 10 + 6 = 16 33 : 11 = 31 · 5 = 5 3 · 12 = 36 2 · 11 = 22 21 : 3 = 78 · 12 = 96 48 : 8 = 6 1 · 5 = 5 8 + 1 = 96 : 6 = 1 80 : 8 = 10 27 : 9 = 3 11 · 2 = 2213 · 13 = 169 4 · 9 = 36 18 - 13 = 5 4 · 11 = 4411 + 15 = 26 2 + 3 = 5 143 : 11 = 13 19 - 13 = 6143 : 13 = 11 40 : 5 = 8 7 + 7 = 14 11 - 4 = 76 · 13 = 78 24 - 14 = 10 6 : 2 = 3 14 : 1 = 144 + 14 = 18 13 + 2 = 15 2 + 5 = 7 120 : 12 = 1010 · 5 = 50 108 : 12 = 9 17 - 2 = 15 5 + 15 = 20121 : 11 = 11 10 - 9 = 1 168 : 14 = 12 4 + 8 = 1228 - 13 = 15 7 + 15 = 22 11 · 3 = 33 16 - 6 = 1015 + 6 = 21 30 : 5 = 6 14 · 13 = 182 20 - 5 = 1512 · 7 = 84 13 + 2 = 15 13 + 9 = 22 11 : 1 = 111 · 15 = 15 25 - 14 = 11 24 - 13 = 11 11 + 15 = 26Mathslibres.com


